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Introduction
In this contribution, we discuss one remaining open issue on mode 2 resource allocation. This is about the handling of resource selection for multiple TBs. 
Discussion
The problem of handling of resource selection for multiple TBs was discussed extensively in RAN1 #102-e meeting [1]. There is no agreement [2], but two options were listed for further discussion. 

· Option 1:
· When resource (re-)selection for a given TB is performed, the slots containing resources selected for other TBs are excluded from the candidates before RSRP-based exclusion procedure
· Option 2:
· When resource (re-)selection for a given TB is performed, it is up to RAN2 and MAC specification how to ensure that resources for different TBs are selected in different slots.
· Append this agreement/conclusion to the reply LS on interlaced MAC PDU transmissions

The difference between Option 1 and Option 2 lies in when the resources selected for different TBs are considered in selecting the resources of a new TB. In Option 1, the resources selected for different TBs are considered in Step 1 of resource selection, i.e., identifying candidate resources. The benefit of this option is that the identified candidate resources are accurate, which does not affect the operation of Step 2 of resource selection. The disadvantage of this option is that a list of resources selected for different TBs need to be passed from MAC layer to PHY layer, causing the interface update from the existing specification, as well as the updated candidate resource identification process. 

On the other hand, Option 2 does not need to modify the interface between MAC layer and PHY layer. The only modification is to exclude the resources selected for different TBs before the random resource selection. The disadvantage of this option is that the set of candidate resources may be small or even empty after removing the resources selected for different TBs from the identified candidate resources. 

At this late stage of Release 16 maintenance, we prefer Option 2 considering its less specification impact. The conclusion should be included in the reply LS [3]. 

Proposal 1: When resource (re-)selection for a given TB is performed, it is up to RAN2 and MAC specification how to ensure that resources for different TBs are selected in different slots.
· Append this agreement/conclusion to the reply LS (R1-2005206)

Conclusion
In this contribution, we discussed one remaining open issue of mode 2 resource allocation. Our proposal is as follows:

Proposal 1: When resource (re-)selection for a given TB is performed, it is up to RAN2 and MAC specification how to ensure that resources for different TBs are selected in different slots.
· Append this agreement/conclusion to the reply LS (R1-2005206)
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